Dual EGT meter

N KOSO DL series HI

INS TIRUCTION

Thank you for purchasing KOSO dual EGT meter, before operating the unit, please read the instruction thoroughly and retain it for the future
reference.

A\ Notice

1.The Icd meter is apply for DC 12V.

2.For installation, please follow the steps described in manual. Any damage caused by wrong installation shall be imputed to the users.
3.To avoid the short circuit, please don't pull the wire when installing. Don't break or modify the wire terminal.

4.Do not disassemble or change any parts excluding the manual description.

5.The interior examination or maintenance should be executed by our professionals.

MARK MEANING:

You could gef the installafion defalls from the informatfion behind the mark. | [ B ] [ ‘ ]
/\ Some processes mustf be followed fo avoid the affection caused by wrong installafion. ]

Some processes must be followed fo avold damages fo yourself or the public. i iy S 2
Some processes must be followed fo avold fhe damage 7o The vehicle. ] Seeli

1 Acessory

Yl .CD meter X 1 Te 0 Y. § stainless clamp X 2

N

[eY Connect terminal X 1

4

(o0l Steel gasket X 1 Y014 X 141 screw X 2 11

12 M4 washer X 2 (A)

M5 washer X 2 (B)

@ ) :
Q \\‘\\\\x
A) (8]

[\[®)j4 Please contact the local distributor if the items you open are not the same, with the above-listed one. A

2 -1 Wiring installation instructions

{©

Temperature A e ! . >
I [ EGT tfemperature sensor [Accessory 3] | White /| Ground wire connect fo
» —_— the vehicle body or the engine
: = —~ | (It must be a good ground)
Main wire [Accessory 2 g Regulator Engine
T — [ )] (Light HIEER] g
Red /"+"Wire connect key on
| AC and DC 12v main power switch
EGT temperature :
sensor [Accessory 3) [ Connect ferminal (Accessory 5] |—

[ ]
|
Stainless clamp
L] |(Accessory 4)

[Stainless clamp [(Accessory 4)}—

/A WARNING!
To avoid the damage caused by the heat from the engine,
please install the sensor before the riding.

4105

When installing, please follow the process.

2 -2 Installation instructions

1. LCD meter (Accessory 1) 7. Rubber (Accessory 7)

2. Meter bracket [Accessory 6) 8. Rubber (Accessory 8)

3. M5 gasket X 2 (Accessory 12-B) 9. Steel gasket (Accessory 9)

4. M5 X 18L screw X 2 (Accessory 11) 10. M4 X P0.8 nut X 2 (Accessory 13)

5. M4 X 14L screw X 2 [Accessory 10)
6. M4 gasket X 2 (Accessory 12-A)

wh006ba03b



3 -1 Basic function instruction

Adjust butfon

@®/n main screen, press down the Adjust
button swifch thermometer fo top
thermometer record. VN1 727

(Select button
@®/n main screen, press gown the Select
button fo swn‘oh C fo &

Select button X 3 seconds /771NN

(Over temperature warning

@sefting range; 200~1000 C (392~ 1832°F). | [No signal! @In fop thermometer record, press down the
@Setting unif: 1°C (F). @Frlease check the signal wiring situation. If Adjust button for 3 seconds fo reset the
>Regarding the sefting, please the signal wiring is broken or falling off, the record. -
check 4. meter will display the wrong >Regarding the seftting, please check 5.
data or nothing like the _ \ND 27 v\l 727
example above. = 3

\ 3\

imperafure foo high

rTemperature too low @®--H-- means that the
@®--L-- means that the S fempercfure is foo high
femperature is foo low fo to detect.

detect. <100°C (250°F) >12OO °C (2100°F)

3-2 Function, setting instruction

& U =z
EARR /71NN

(& MC')Ov'ér‘ fgr*r;pér'ij}dré“ arning setting
uE) Semng ronge 200 1000 C (392~1832°F) - Sefnng unit: 1°C (°F)
S splay rar 2 isp
©
124m/m 3
N
17 E
[ T
37m/m
[¥[e)i3 Design and specificafions are subject fo change without nofice! ]

4 Over temperature warning setfing

In main screen, press down the Press the Select button fo move Press the Adjust button to select Press the Select button 3 fimes fo

Select & Adjust button for 3 to the unit you want fo set. the number you want to set. enter the temperature B warning
seconds fo enter the over sefting screen.

temperature A warning setting
screen.

Press the Select button fo move Press the Adjust button fo select Press the Select button 3 timesfo  In main screen.
fo the unit you want to set. the number you want to set. back to the main screen.

e
v
When the temperature reaches your sefting, the back light will change

from blue to red and keep flashing to warn you until the remperorure is
lower than your seftting. 4

[[e)ja Over femperature warning Seftting range: 200~1000°C (392~ 1832°F) - Setting unit: 1°C (°F) ]
A\ Ifyour sefiing is over or lower than the seffable range, it will back fo the first unit. |

5 The top temperature record reset

In main screen, press the Adjust Press down the Adjust button for After if, press the Adjust button In main screen.
button fo display the fop record. 3 seconds to reseft the record. to back to the main screen.

wh006ba03b



JoU1BUIY 7ESUID) |, §660SOY | Mi'UIOD [INB)OSOY [IDUI-8
M]'UIOD 0SOY MA QlH

8/819VC-9-988+ Xv4 G9G955C-9-988+ T4l
OO NvMIVL NYNIVL LORILSIA NYNNY 1S NNY-ONIQ 907 ON vr60L %‘ omog

Jjno

N0 IDjs HDis
uoysid uoysid
|y} 8y}
wouy wouy
woQl wog|

adid jeng

adid ajbuis

sbuimpo.p
- LT -

‘adid pnp 40 8jbuis o s 41 I
Buipuadaq “yno panys uoysid ayy
woJj wod GL o) woQl

‘POpPA3U S[IDJSP By IO JO) PBJODIUOD 8q pInoys ssiupdwod bulnjopinuow

asay) ‘es1oaid asow aq of aunypiadway Buiuuni pup uoypoojaqo.d

10J suolDIYIDBAS UMO JIBY} SADY JoinjoDINUDW SUWIBJSAS JSNDYXe pub Pajs YopJ
‘INO LS uoysid

Byl WOy WO G| O WD Q) usemiaq aq pjnoys Uuolooo] 8qold * Ajpieuss) Jojoo bnid
PUD UOJSIA 8y} YiM PBIDIBLIOD 8Q SADMID PINOYS PaodIpUl inpieduus) ay] ‘an jes
aulbus ay} uo Bupusdep O, 9/9 PUD D, £6G Usemieq abupi [|IM SPSJS [SOU O]
abup. ainipleduus) [oULIOU 8Y] 'PIOM [oUl) 8y} JoU 8ID Asy) Inq pio Bujuny josib b 8io
sainoladwis) sPb [SNDYxe 8y "Buojp ainipseduus) [SNoyXe AQ eun) 8q JeAsu PINoYSs
aulbus Uy ‘[8xI0W By} UO SPaJS YO8 I0) [UBIalIP S| ainioieduusy S|Y] JOSUSS [SNDYXS
INoA Jo Al ey 1o ainpieduua) ayj s eBnpb JNOA Uo papolpuUl 8inpieduUs) 8y]

sSUOoIRONJSUI JOSUSS | £3=



